
Co3 (mod 7)

blocks defect matrix

G : 1 1 7× 6
2 1 7× 6
3 1 7× 6
4 0 8961 = χ6, ϕ6

5 = 4 0 8962 = χ7, ϕ7

6 0 17711 = χ8, ϕ8

7 0 40251 = χ12, ϕ12

8 0 55441 = χ13, ϕ13

9 0 70841 = χ14, ϕ14

10 0 88551 = χ15, ϕ15

11 0 96251 = χ16, ϕ16

12 = 11 0 96252 = χ17, ϕ17

13 0 206081 = χ18, ϕ18

14 = 13 0 206082 = χ19, ϕ19

15 0 260821 = χ21, ϕ21

16 0 318781 = χ25, ϕ26

17 0 402501 = χ26, ϕ27

18 0 579601 = χ27, ϕ29

19 0 1771001 = χ35, ϕ34

20 0 2213751 = χ37, ϕ35

21 0 2266881 = χ38, ϕ36

22 0 2464001 = χ39, ϕ37

23 0 2494801 = χ40, ϕ38

24 0 2550241 = χ42, ϕ39

Block 1: ϕ1 ϕ4 ϕ10 ϕ11 ϕ24 ϕ31

11 = χ1 1 . . . . .
2532 = χ4 . 1 . . . .

35201 = χ10 . . 1 . . .
35202 = χ11 . . . 1 . .
316251 = χ22 . 1 . . 1 .
911251 = χ31 1 . . . . 1

1295362 = χ34 . . 1 1 1 1

ϕ1 = 11
ϕ4 = 2532
ϕ10 = 35201
ϕ11 = 35202
ϕ24 = 313721
ϕ31 = 911241



Block 2: ϕ2 ϕ5 ϕ20 ϕ23 ϕ28 ϕ30

231 = χ2 1 . . . . .
2751 = χ5 . 1 . . . .

230001 = χ20 . 1 1 . . .
632501 = χ28 1 . . . . 1
736001 = χ29 . . 1 . 1 .
809601 = χ30 . . . 1 1 .
933121 = χ32 . . . 1 . 1

ϕ2 = 231
ϕ5 = 2751
ϕ20 = 227251
ϕ23 = 300851
ϕ28 = 508751
ϕ30 = 632271

Block 3: ϕ3 ϕ9 ϕ22 ϕ25 ϕ32 ϕ33

2531 = χ3 1 . . . . .
20241 = χ9 . 1 . . . .

316252 = χ23 1 . . 1 . .
316253 = χ24 . 1 1 . . .
1295361 = χ33 . . . 1 1 .
1844371 = χ36 . . 1 . . 1
2530001 = χ41 . . . . 1 1

ϕ3 = 2531
ϕ9 = 20241
ϕ22 = 296011
ϕ25 = 313722
ϕ32 = 981641
ϕ33 = 1548361


